Thursday, March 21

RACE 1	Volt 2140 RANK
Only ranking.	A: 4-11-3-10
	B: 6-1-9-7-8-12-2-5
	С:

Top 4 : **4 - 11 - 3 - 10**

Quinella:	Trifecta:
Horses: 3, 4, 10, 11	1: 4, 11
U-Horses:	2: 3, 4, 10, 11
Total: 6 x 20 = 120	3: 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12
	Total: 60 x 2 = 120

RACE 2	Volt 2140	RANK
Only ranking.		A: 4
		B: 1-2-3
		C: 6-7-5
	Ē	
		Top 4 : 4 - 1 - 2 - 3

Quinella:	Trifecta:
Horses: 1, 2, 3	1: 4
U-Horses: 4	2: 1, 2, 3
Total: 3 x 30 = 90	3: 1, 2, 3, 5, 6, 7
	Total: 15 x 2 = 30

Thursday, March 21

Only ranking. A: 3-5 B: 2-1	RACE 3	Auto 2140 RANK
	Only ranking.	A: 3-5
C•4		B: 2-1
C		C: 4

Top 4 : **3 - 5 - 2 - 1**

Quinella:	Trifecta:
Horses: 3, 5	1: 3
U-Horses:	2: 5
Total: 1 x 100 = 100	3: 1, 2
	Total: 2 x 2 = 4

Thursday, March 21



RACE 4

V64-1

Volt **2640**

6 Grand Ready Cash showed in the seasonal debut the high capacity. The Readly Express-son looked very nice over the finish last time and has got a run under his belt now. He should be even better now.
4 Excusez Moi seems to be heading for a nice season, but will probably need this race after a long break. 3 Free To Ask is better prepared and showed full speed over the finish last time. Will go for an early lead.
1 Mon's Tornado is significantly better than what he has shown lately.

RANK	
A: 6-4-3	
B: 1-7-5	
B: 1-/-3	
C: 2-8	

Top 4 : 6 - 4 - 3 - 1

Quinella:	Trifecta:
Horses: 4, 6	1: 3, 4, 6
U-Horses: 3	2: 3, 4, 6
Total: 2 x 50 = 100	3: 1, 3, 4, 6
	Total: 12 x 2 = 24

P/	ſ	F	5

V64-2

7 Må Super has shown good form and puts in nice efforts every time.

Faces easier horses now compared to the last couple of times. Despite this lane she should have the highest chance of winning this medio-

cre race. **5 Emelie** has good skills for this class. Quick starter and our bid for the lead. From the front, she has won the three victories of

her career. **6 My Memphis** has not raced for a long time, but is good enough to fight for victory if she avoids a mistake. **3 Eloise Frontline**

has two runs under his belt and is on the way up.

Auto **2140**

A:

B: 7-5-6-3-11-9-8-1

C: 10-4-2-12

RANK

Quinella:

Horses: 3, 5, 6 U-Horses: 7 **Total: 3 x 30 = 90** **Trifecta:** 1: 3, 5, 6, 7 2: 3, 5, 6, 7, 11 3: 3, 5, 6, 7, 8, 11 **Total: 64 x 2 = 128** Top 4 : 7 - 5 - 6 - 3

Thursday, March 21



RACE 6

V64-3

Volt **2140**

5 See My Muscles is a very nice trotter and will certainly develop a lot this season. He has shown really good skills so far and put in a strong effort last time. Will certainly get an offensive trip by Kontio. **4 Vandamme** faces nice conditions here and if he avoids a mistake, he should have a good chance to challenge the favorite. **2 Spybourne** got locked in with energy left in the seasonal debut. **15 Leland P.Hill** is a nice type who always makes strong efforts.

RANK
A: 5
B: 4-2-15-10-11-3-6-7-1-13
C: 8-14-9-12

Top 4 : 5 - 4 - 2 - 15

Quinella:	Trifecta:
Horses: 4, 5	1: 5
U-Horses:	2: 2, 4, 15
Total: 1 x 100 = 100	3: 1, 2, 3, 4, 6, 7, 8, 9, 10, 11, 12, 13
	, 14, 15

RACE 7	V64-4	Auto 1640	RANK	
	impressed and finished to		A: 12	
now, but she is by far t	start despite a big mistake he best horse in this com	pany. Together with	B: 8-3-4-1-9-10-5	
in this seasonal debut.	have a good chance desp 8 Nova Tabac is significa	antly better without	C: 7-6-2-11	
	time. 3 Bato Odina has ta ne short distance. 4 Kolm i			

Top 4 : 12 - 8 - 3 - 4

Quinella: Horses: 8, 12 U-Horses: **Total: 1 x 100 = 100**

Trifecta:

1: 12 2: 3, 4, 8 3: 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11 Total: **30 x 2 = 60**

Thursday, March 21



RACE 8	V64-5	Auto 2640	RANK
6 Global Easy Rider comes with three straight victories. Faced easy opponents in the last run and finished with a lot of energy left. Hard to beat if he finds an early lead. 1 Competivo is actually a better horse. The driver is optimistic and the horse is strong enough to beat his stable companion. 5 Nemesia Boko is gifted and has been on the podium in twelve out of 15 starts. 11 Hypnotize shows good form and deserves a victory soon.			A: 6-1 B: 5-11-7-10-4-9 C: 2-3-8-12 Top 4 : 6 - 1 - 5 - 11
Quinella: Horses: 5, 6 U-Horses: 1 Total: 2 x 50 = 100	1: 1 2: 1 3: 1	řecta: , 6 , 5, 6 , 2, 3, 4, 5, 6, 7, 8, 9, 10 a l: 32 x 2 = 64	

RACE 9	V64-6	Auto 1640	RANK	
	and would have left this lo	•	A: 2	
ago if he had avoided mistakes. He scored a strong victory in the last run and won very easily. 8 Wilda Eric is quite poorly drawn and this distance is not ideal. But with some racing luck, he will be able to chal- lenge for victory. 3 Urkraft has a high capacity, but is not reliable and			B: 8-3-6-11-1-12	
			C: 10-7-4-5-9	
has made a lot of mistakes. 6 Skjalg has met good horses in Norway and has previously put in good efforts on Swedish soil.				

Top 4 : **2 - 8 - 3 - 6**

Quinella: Horses: 3, 8 U-Horses: 2 **Total: 2 x 50 = 100**

Trifecta:

1: 2 2: 1, 3, 6, 8, 11, 12 3: 1, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12 Total: 60 x 2 = 120

Thursday, March 21

RACE 10	V3-3	Volt 2140	RANK
Only ranking.			A: 1
			B: 6-8-5
			C: 4-2-3-7

Top 4 : **1 - 6 - 8 - 5**

Quinella:	Trifecta:
Horses: 6, 8	1:1
U-Horses: 1	2: 5, 6, 8
Total: 2 x 50 = 100	3: 2, 3, 4, 5, 6, 7, 8
	Total: 18 x 2 = 36